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Consider the following statements 33.	
about Saansad Adarsh Gram Yojana:  

Under the Yojana, each Member of 1.	
Parliament must develop eight model 
villages by 2024.
	A Village Development Plan must be 2.	
created for each model village. 
A web based monitoring system will be 3.	
established to enable the MP and other 
stakeholders to monitor the scheme.

Which of the above statements are correct?

1 and 2 only	(a)	

 2 and 3 only(b)	

1 and 3 only	(c)	

1, 2 and 3(d)	

Role of pressure groups in general is 34.	
confined to the welfare of which of 
the following groups:

All sections of society within a state1.	
Its members only2.	
Weaker sections of society3.	

	Caste and religion based communities4.	

Select the correct answer using the code given 
below:

	1 only	(a)	

	1, 2 and 3 only(b)	

2 only	(c)	

	1, 2, 3 and 4(d)	

Consider the following statements 35.	
related to the types of pressure 
groups:

Interest groups are concerned to protect 1.	
or advance the interests of their members 
whereas Cause group seek to advance 
particular ideals or principles.
Membership is open to all in both the 2.	
groups.
	Interest group mainly works on the issues 3.	
related to poverty reduction, education 
and the environment whereas Cause 
group concentrate on business and trade 
issues.

Which of the above statements is/are correct?
	1 and 2 only	(a)	
	1 only(b)	
1 and 3 only	(c)	
3 only(d)	

Which of the following modes of 36.	
corruption has been identified by the 
Central Vigilance Commission?

	Borrowing of money from contractors/1.	
firms having official dealing with officers.
	Losses to the government by negligence 2.	
or otherwise.
Production of forged certificate of age of 3.	
birth / community.
Acceptance of gifts.4.	

Select the correct answer using the code given 
below:

	1, 2 and 3 only	(a)	
	2, 3 and 4 only(b)	
	1, 3 and 4 only	(c)	

 1, 2, 3 and 4(d)	

Although the Right To Information 37.	
(RTI) Act is applicable to both the 
Union and state governments, the 
field situation varies from state to 
state. Consider the following step 
which should be adopted to improve 
the system: 

The CIC alone should be entrusted 1.	
with the task of monitoring effective 
implementation of the RTI Act in all public 
authorities.
A National Coordination Committee 2.	
(NCC) may be set up to carry out impact 
evaluation of the implementation of the 
Act.
	Each public authority should be 3.	
responsible for compliance of provisions 
of the Act in its own office as well as that 
of the subordinate public authorities

Which of the above statements are correct?
1 and 2 only	(a)	
2 and 3 only(b)	
1 and 3 only	(c)	

	1, 2 and 3(d)	


